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[5 AZES]
BT FHIAE L 1 xR 22 ] 2 3 )R 24 )R BIEEEERNR
B 5 TERER | BB | SREL | AKER | SRER | ARER | SRER | A%EK B Z
ATTEL (KZERRE) 1,354 749 605 1,322 515 480 280 245 175 168 114 45 69
D #&@it (KFERE) 34 7 27 34 6 5 3 3 3 3 1
FER (KEFERE) 18 14 4 18 13 9 9 9 9 7 5
HEE (KEEE) 15 7 8 15 8 7 5 4 4 1
) B (REFIZED) 10 8 2 10 4 0
LREL (KERE) 29 4 25 28 7 6 6 6 5 4 0 4
MEBEL (BAREIEE) 14 1 13 14 7 7 7 7 7 2 0 2
O RBELXT (KERE) 33 1 32 31 11 11 8 8 5 5 3 0 3
Q RIEED (KZEREE) 26 2 24 26 10 9 7 7 7 7 5 0 5
B 1,533 793 740 1,498 583 540 327 290 216 208 142 52 90
< IRERE LA >
SR 5> SRk 2 1 RHR B2 R %3 KR B4 RHR RRAEENT
B L2 TEREE | BB | TREHR | AKEN | SRER | ARER | SRER | A%EK L= 2z
BT (KRZRE - &BERA) 61 40 21 61 7 7 6 5 2 2 1
CAITEL (RZARE - BFEEA - 108) 193 128 65 192 30 28 13 12 8
Faafu (REFEEE - BREBEERA) 11 9 2 11 3 2 2 2 1 1 1
GEtAR (KZERE - BBREEA) 2 2 1 1 1 1 1 1 0
| BB (RZAIRE - RERERA) 4 4 2 1 1 1 1 1 0
K B (R - REEERA) 3 3 2 2 2 1 1 1 0
NREL (KREFRRE - REEERA) 16 3 13 16 4 4 4 4 3 3 2
PREL (KFERE - &BEERA) 17 17 17 7 7 6 6 4 4 3
RAREEED (KZEIRE - RBERA) 3 3 3 2 2 1 1 0
S BEE#HE (KHXEE - BREEA) 2 2 2 2 2 2 2 2 2 ? 2
Ell 312 189 123 311 60 56 38 35 23 15 9 13
[0 AZ&ES]
T4 FIAE L 1 REER 2 R 2 3 KR RIEEEENR
B 2 TERER | BB | SBRER | AKER | SREN | ABEK == %z
T1TH (B%EE) 35 19 16 35 20 17 4 4 3 1 2
U 1TEL (KRZRE) 16 10 6 16 2 2 1 1 0 0 0
VAEERE (§%EE) 71 70 1 71 36 35 24 24 19 18 1
=t 122 99 23 122 58 54 29 29 22 19 3
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SH3EE Q021FE) BERAZE EERR
[1285£5
BRI 5 AR %1 KR %2 KSR % 3 KR REAREAR
B == TEREM | GEER | SRELR | ARER | IRER | AREK == %z
W ATEL (RZRR2R) 189 140 49 176 54 47 26 25 17 9 8
Y R (KEFEE) 1 1 1 0 - - -
a B (KRFEE) 4 1 5 3 3 1 1 1 1
c M (KREEE) 2 2 2 2 2 2 1 1
e REL (KEREE) 2 6 2 2 2 2 2 1 1
g RELT (KEREE) 10 1 9 3 2 1 1 1 1
i REED (RZEERE) 3 1 3 3 3 2 2 2 2
Ell 216 151 65 202 68 59 34 33 24 12 12
<fREREIH >
SAERT 4 A IR E 1R E 2 XA 3R B ARAENR
B =2 TEREM | GEER | SRELR | AEHR | IRER | AREK == Eo8
X ATEL (RZERE - BBRERA) 126 95 31 126 45 40 20 20 12 11 1
7 KR (RERE - &BEED) 4 4 4 3 2 2 2 2 2
b BE (KFRE - BBREEA) 3 3 3 3 2 1 0 -
d HH (KZERE - BERERR) 1 1 1 1 1 1 1 1 1
f REL (KRFREE - ZERERAB) 7 2 5 7 5 5 2 2 2 2
h REL (KFERE - BEREERA) 20 2 18 20 8 8 4 4 3 3
JREEED (RZREE - RERERA) 4 2 2 4 3 3 2 2 2 2
=t 165 109 56 165 68 61 32 31 22 14 8
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